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[f ()2 gX)] = f'(x)£g'(x).

[Cf (x)] = Cf'(x).(CHHED

Lf (x)g ()] = f(x)g(x)+ f(x)g'(x).

[f (x) Y = [ (0g(x)—f(0g'(x)

g(x)” g’ (x)

-ﬁ?mg(x) # 0
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AT (x) = log,, x, Mf '(x) =

(a>0,Ha=#1)

IoABFESf(x) =In x, f '(x) = l

X



y =In(2x* + 3x + 1)

W y=- (22 +3x+ 1)

x2+3x+1
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2x%2+3x+1







(1) WHHRANSHEEANSH LN PEMAIRIIANSE |,
BRICaT , AL, AEA.

( 2) FRNHNHRANSHIAE , NFTSERNHANSEERRY
HIREER |, LAGRIERZISI IERISF N TE.

( 3) EXRVHRHNSHIIER , ZEETHE , BRSHR
N ; 2ESSHNANERZNHNESHHAKRSENHITRS




0

U !




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

